MINOURN 707 by UT7EER 12mm RIV—=727 RJIV;REBE Y b (100mm/ 110mm 18 3%5)

BIgRNY 12mm 2 —P O RROBEEIC IOV hFr UPELEETILHD N . #50592
]
SESRCHBP BB HENEBIRENVWOIENNEREZ 2, 3TBED

ERZRLEYFEIRTEICAALY h T, —B89%4 100mm (2 94492471202
110mm 8D E-bike BN\ T [CERET ZH A XEB>TVET,

kF+ /VT=IEED2ZXY (FTIWALY F) IKEERIZIEEST,
HFEOERRLE (&&) THIELEY)

07

[a@:@emwz‘m& F0L0% )

BAT, AHICALRATRVES.
43U 63UABLYF )

2mm AR=Y TN AR=Y 7Y VA l3EZ N U %\

\\ / / / N\ 7% (P1.0mm)

(BT mﬁw %

Bty ML) TH

‘ | w12 lengih 135 | | & FOBLEOT b5,

77 D; b ClEERL
> 1) 77 %4 c FWNFHERT Y Y v

( 0 hFY ) TEEET Bl ) Fv v TRV b M5x12 £7lE M5x16 %Agz?\ga—b\

Fv)TH 7+=9IVF (CEBREFRVZE) / REATIEHY T4

4

= (P1.5mm)

/ A

i E———— e

MSETy v (1#) M5 ETy v (5HER)
@ 100mm BONTIEIEPF ¥ V) 7 ERET BHBEEAN—Y% 2~ 3WAN, TEBLERRMICT 3,

1= ]
07+ — VMBI IANETN TV BHRER, T—/\—AN—HEANS,
mk— ] (70 b v U FORUHES

| [84ET] #MREut Bl 75032312 IEEERN\BHFEITE 134-1 Phone: (0584) 27-3131  Mail: infodesk@minourajp Web: www.minourajp — H7 |

The perfect set of 12mm thru axle for installing front racks. With so many ™ #50592

thru axle specs on the market this set fixes the issues of fit by including ’ “ | ‘||||| |||||| ” ‘

three different thread pitch sizes in in one set. The extended axle body

will also fit 100mm hubs that are often found on e-bikes, too. 944924120207
Choose the applicable thread size one A
to your bike frame and connect it to axlej

2

4

(NOT compatible with DOUBLE THREAD design such as found on
Cannondale. We supply the special thread in gold color separately.)

Required Tools 4mm & 6mm Hex Wrench )

2mm Spacer Taper Spacer Axle Body Jointable Thread %\
\\ / ,/ R Red (P1.0mm)
[Attention]
‘ M12 lengfh 135 ‘ ‘ The parts bag is Blue (P1.5mm)
same with the one Black (P1.75mm)
( ) included in the rear
How To Mount Front Rack axle set.
Cap Bolt M5x12 or M5x16 It includes a washer
Rack Leg / Fork End (Use the longer size) j with teeth but it

N isn't needed for the
front. )

1 x M5 Flat Washer 5 x M5 Flat Washers
@ Insert a few spacers when using on 100mm wide hub or when mounting a rack to make it as symmtrical as possible.

= )

@ If the fork has adent on its end, use the Taper Spacer.
m‘ ‘e ‘ ] [How To Mount Front Rack]

MINOURA JAPAN  134-1 Shimomiya, Godo, Anpachi, Gifu 503-2312 Japan ~ Mail: minoura@minoura.jp  Web: www.minoura.jp ~ Made in Japan |




